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UNIT—-I
What is a compiler? How is 1t different
from an interpreter? 4+2=
What is the us€ of re gu ressions?
Provide the rules that t de ﬁne regulzr)( 1o
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Name the various phases of a compiler
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What do you understand by WP€

conversion?
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Describe any two data S
symbol table.

can be used to represent 2
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UNIT—IV

vironment? Give
ate code
2+6=8

What is a runtime €n
four advantages of an intermedi
over direct code generation.

Briefly explain the contents stored in an

activation record.
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How is a quad
instructions.
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10. (q) What is 5 ‘basic

block’ How are they
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